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restart .

C1

SolucionGeneral == y(x)--2-(1 —y(x))=(x—_CI)--2;
SolucionGeneral :=y(x)2 (I =y(x))=(x—_CI )2
Solucion = isolate(SolucionGeneral, CI);
Solucion:= _CI = - \/y (1 —y(x)) +x
Ecuacion = diff (Solucion, x);

zwm<1—wxn(giyuw)—yuf(éiyu@

2
Jy( (1=y(x))
EcuacionBuscada = simplify( isolate(rhs(Ecuaczon =0, dlff );

2y 1+y(n
y<>(2+3y(n

Ecuacion =0 = - +1

EcuacionBuscada .= — y(x) =

dx

restart
sin(2-x)
y(x)

. 2
EcuacionDiferencial .= sin(2x) +x+ [y(x) — %J (i y(x)) =0
y(x) ¥(x) dx

sin(x)--2

EcuacionDiferencial ==
y(x)--2

+x+ (y(x) — ) diff (v =0;

with(DEtools) -
odeadvisor( EcuacionDiferencial);
[ exact]

sin(2-x)

M(x,y) = + x;

M(x,y) = sin(2x) +x

DMy = diff (M (x,y),¥);

DNx = diff (N (x, y), x);
_ 2sin(x) cos(x)

2
Y

comprobacion = simplify(DMy — DNx) =0;
comprobacion :=0=0

restart

Ecuacion = diff (y(x),x) = 3.x.?2-x;y)(29(6))c) R
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Ecuacion = 4 y(x) = %(L)z
i dx 3x" —y(x)
| > with(DEtools) :
> odeadvisor(Ecuacion);
[[_homogeneous, class A, rational, dAlembert]

_> intfactor(Ecuacion);
-3 47 -|—y(x)2

y(x) (-x+y(x)) (y(x) +x)

>

COEFICIENTES HOMOGENEOS

_> EcuacionSeparable := simplify(isolate(eval(subs(y(x) =u(x)-x, Ecuacion)), diff (u(x),

x)));

2
I EcuacionSeparable = % u(x)=- ”(xxz _(3' :_‘Z(L;()?;)) )
(—1 —I—u2)
> P(y) = 222U
(-3 —I—u2)
_ 2
P( _u ( 1 +124 )
= -3+u
> R(x) =ux;
R(x) =x

1 1
jonl ja = | j =ClI,
> Solucionlntermedia znt( Plu) ,u) —I—mt( Rix) ,xj CI;
SolucionIntermedia == -In(u — 1) —In(u +1) +3 In(u) +1In(x) =CI

> Solucion = simpllfy(subs (u = ‘Z, Solucion]ntermedia) );
X

Solucion == —ln(——_m) —ln(m) +3ln(l) +In(x) =CI

X x x
_> SolucionGeneral = simplify(exp(lhs(Solucion))) =CI0;

3
SolucionGeneral == - —QLQ =Cl0

| -y tx
| >
| FACTOR INTEGRANTE
> FEcuacion;
d 2xy
- y(x)= 2x (x) >
dx 3x" —y(x)

> M(x,y) =-2-xy,

> NU&W==3x;—f;

—3x2—i-y2 j

> Faclnt == simpli (
P ) )
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3 x2 2
Faclnt .= X Y

y (- +x%)
MM (x,y) = simplify(Faclnt-M(x, y));
_ 2034y
MM (x,y) = - 2 2
-y +Xx

NN (x,y) = simplify(Faclnt-N (x, y));
2 22
NN (x,y) = Bx=y) - l
y (=) +x7)
DMMy = simplify(diff (MM (x, y),y));
3
DMMy = - — X
(-*+x%)
DNNx = simplify(expand(diff (NN (x,y),x)));

22 4 4
DNNx = 2x ( 18 y"x"+9x —I-Sy)

2
v (-7 +4%)
restart .

(24)

(25)

(26)

@7

(28)



